DDE VP60 (apt. VP60)

% >
r\k\
L™

DYNAMIC DRIVE EQUIPMENT

DDE VP60 (apr. VP60)

Technical department

Ass

embly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




DDE VP60 (apt. VP60)

Ne| HanmeHoBaHme Kon-Bo| ApTuKyn

72 1

73 |Mpobka baka 1 A2008005-1

74 1

75 |laitka M10 1

76 |lWTyuep c kpaHom 1 A2008007-1

77 |Oukcatop 1 A2008003-1

78 |WnaHr nogaum Bogbl 1 A2008008

79 |[detanb pacnbinuTens 1 A2008009-1

80 |BuHT M8x16 4

81 4

82 |[lepxatenb nesbiii 1 A2008010

83 |[lepxatenb npasbin 1 A2008011

84 |BuHT M8x16 2

85 2

86 2

87 2

88 |bak ana sopbl 1 A2008006-1

89 |bak ansa Bogbl KOMMNeKT 1 2008014

90 |Pyuka-pykoaTKa 1 101100

91 |Ban konec 1 108001

92 |Koneco 2 108002

93 |lnacTuHa KpenneHus auratens 1 105003

94 |Haknapka pe3vHoBas NOAOLIBbI 1 103001

95 [MnacTuHa KpenneHua Haknagkn 1 103002
pe3nHoBOW

96 |BuHT M10x40 3

97 3

98 6

99 |Pbivar rasa 1 A2004001-1

100 [Tpoc rasa 1 1560006-2
OcHacTtka

BH |KoBpvK nnacTukosbiii 7500100101
cneumann3npoBaHHbIn

BH |TpaHcnopTrpoBoYHoe yCcTpOoNCcTBO 7500100102

BH |KomnnekT noacoeanHeHus 6aka 7500100105

Ne| HanmeHoBaHue Kon-so| ApTukyn

1 |Bubporacutennb 4 103100

2 1

3 |3KcueHTpUK "BrbpaTop” 1 104000
4 4

5 4

6 _|BuHT M16x40 4

7 |MnactnHa KpenneHwa auratens 2 105100
8 1

9 2

10 2

11 2

12 |lanka M10 2

13 8

14 8

15 [laitka M10 8

16 2

18 |LLInoHKa WwKnBa BeayLwero 1 010005
19 |dBuratenb 6eH31HOBbLIN 1

YeTblpex-TaKTHbIi 101000-1

20 4

21 4

22 |BuHT M8x40 4

23 |Pyuka-pykosaTka 1 106000
24 |laiika 6apalleKk 3axuma PyKOATKN 2 106007
25 |BuHT M8x25 9

26 2

27 2

28 [BTynka pesnHoBas 2 106002
29 |Btynka 2 106003
30 |BuHT M12x55 2

32 |LLkvB Bepywmn 1 152000
33 |Lllaiba wkuBa BegyLlero 152005
34

35 |BuHT M8x25 1

36 |KpblluKa pemHA BHyTpeHHAs 1 107001
37 |PemeHb 13x737 Li 1 011544
38 |Koxyx pemHsa 1 107000
39 11

40 11

41 |BunT M8x16 3

42 |Ban 1 108100
44 |lainka M10 1
[ 45 |Wainba wKmBa sKCLIEHTPUKa 1 154003
46 1

47 |BuHT M10x25 1

48 |IknB 3KCLIEHTPUKa 1 154004-1
49 |LnoHKa WKrBa 3KCLeHTPrKa 1 010008
50 |KpbiluKa 3KCLLeHTp1Ka 1 154005
51 |KpbllKa Kopryca SKCLeHTprKa nesas 1 154006
52 |CanbHWK SKCLeHTpUKa 35x8 1 098035
53 1

54 |MoAWNNHYIK WapUKOBbI 2 027011

6211-GB276 sKcLeHTpUKa

55 |KonbLo ynnoTHUTENbHOE SKCLIEHTPUKA 2 034100
56 8

57 8

58 |BuHT M8x25 8

59 |KpblliKa Kopryca SKCLeHTpVKa NpaBas 1 154008
60 |Kopnyc 3KCLIEHTPUKa OCHOBHOW 1 154009
64 1

65 |bonT cnMBHOW/3anBHOM IKCLIEHTPVIKA 1 154002
66 |BuHT M6X30 4

68 |3aK1MM pe3nHOBbI 2 105001
69 |laika M6 4

70 4

71 |Bunt M10x30 1

DYNAMIC DRIVE EQUIPMENT

DDE VP60 (apr. VP60)

Technical department

Ass

embly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




